#### **KEYWORTH CRICKET CLUB - 1959 SEASON**

President: F Gill.	Chairman: J H Reeve snr.	Gen Sec: P North						
Treasurer: J W Reid.	Auditor: H G Gray.							
Selection Committee: A Bennett, L Bloore, H R Henson, K J Hodgett, J H Reeve snr, F Stevenson,								
C Underwood, A Wood.								
1 <sup>st</sup> XI Captain: H R Henson	Vice Capt: C Underwood							
2 <sup>nd</sup> XI Captain: A Wood.	Vice Capt: G L W Green.	Sunday Capt: G Starbuck						
Umpires: J H Reeve snr.	Scorers: C Baxter & E Wood							
Groundsman:	Ground: Rectory Field.							

#### **Review of the Season:**

The Annual General Meeting took place on 6 January 1959 in the Lecture Room. The Annual Dinner took place in Loughborough on 26 March 1959 at the Bulls Head PH. **Award winners**: Wm Gunn Batting trophy...Keith Hodgett. Webster Bowling cup...George Green. Highlights of the season included two hat tricks, one by Ron Armstrong for the 1<sup>st</sup> XI in a League match against Eastwood St Marys on 22 August in a 6 for 13 spell and earlier in the season, John Stubbs taking the first recorded club hat trick, on 9 May in a 2<sup>nd</sup> XI match versus Bingham. John finished with figures of 5 for 7 and in the return fixture at Bingham on 21 August, 14 years old schoolboy Keith Richmond took a hat-trick and finished with 6 wkts for 20 runs. The season also witnessed the highest batting partnership since the 2<sup>nd</sup> World War when Charlie Underwood and Gerald Starbuck put on 124 for the 7<sup>th</sup> wicket against Raleigh Athletic on 1 August.

The 1<sup>st</sup> XI having been promisingly placed near the top for most of the season fell away at the end for only a top half finish.



Nine man team for a Notts Amateur League match versus Kimberley Institute, left to right... Back Row...Jack Reeve (Chairman), W Bloore, Eric Watson, Gerald Starbuck & Phil North. Front Row...Jeff Disney, Harry Henson (capt), Brian Johnson, Ron Armstrong & Keith Hodgett.

#### 1st XI MATCH RESULTS in NOTTS AMATEUR LEAGUE Division TWO...

09.05.59	KIMBERLEY INSTITUTE	А	Lost by 77 runs
16.05.59	UNDERWOOD	Н	Won by 43 runs
23.05.59	LOUGHBOROUGH CARILLON	А	Won by 5 wkts
30.05.59	RALEIGH ATHLETIC	Н	Won by 98 runs
05.06.59	SANDIACRE TOWN	А	Lost by 6 wkts
13.06.59	HUCKNALL COLLIERY	Н	Won by 4 wkts
20.06.59	EASTWOOD ST MARYS	Н	Won by 153 runs
27.06.59	CLIFTON MINERS WELFARE	А	Lost by 120 runs
04.07.59	BOOTS ATHLETIC	Н	Won by 20 runs
11.07.59	KIMBERLEY INSTITUTE	Н	Lost by 18 runs
18.07.59	UNDERWOOD	Α	Won by 5 wkts
25.07.59	LOUGHBOROUGH CARILLON	Η	Won by 11 runs
01.08.59	RALEIGH ATHLETIC	Α	Draw
08.08.59	SANDIACRE TOWN	Η	Lost by 95 runs
15.08.59	HUCKNALL COLLIERY	Α	Won by 6 wkts
22.08.59	EASTWOOD ST MARYS	Α	Won by 158 runs
29.08.59	CLIFTON MINERS WELFARE	Η	Lost by 18 runs
05.09.59	BOOTS ATHLETIC	Α	Lost by 7 wkts
1 <sup>st</sup> XI POPKESS CU	P MATCH RESULT		
12.05.59	GEDLING COLLIERY	Α	Lost by ?
1 <sup>st</sup> XI FRIENDLY M	ATCH RESULTS (includes Sunday	& H	Bank Holiday)
18.05.59	KIRKBY WYVERN	Α	Lost by 66 runs
07.06.59	CARLTON	Α	Lost by 74 runs
28.06.59	GRESLEY MINERS WELFARE	Α	Lost by 42 runs
12.07.59	ASPLEY OLD BOYS	Α	Lost by 2 wkts
19.07.59	BALDERTON	Α	Lost by 13 runs
02.08.59	WOOLSTHORPE	Α	Lost by 57 runs
23.08.59	HUCKNALL	А	Draw

# NOTTS AMATEUR LEAGUE Division TWO...positions at 26 July 1959

		Pld	W	D	L	Pts
1	KIMBERLEY INSTITUTE	13	9	3	1	40
2	UNDERWOOD	13	9	0	4	36
3	KEYWORTH	12	8	0	4	32
4	CLIFTON MINERS WELFARE	13	7	2	4	32
5	BOOTS ATHLETIC	12	7	2	3	31
6	HUCKNALL COLLIERY	13	5	2	6	22
7	RAYLEIGH ATHLETIC	13	5	1	7	22
8	LOUGHBOROUGH CARILLON	13	5	0	8	20
9	SANDIACRE TOWN	13	2	1	10	10
10	EASTWOOD ST MARYS	13	0	0	10	3

HIGHEST SCORE: 209-7 KEYWORTH v RALEIGH ATHLETIC (01.08.59)

LOWEST SCORE: 28 KEYWORTH v GRESLEY MINERS WELFARE (28.06.59)

## 1st XI BATTING Averages...(qualification 8 completed innings)

I AIDAIIING	Averages(quan				110	T 1 D	
		Matches		Not Out	HS	Total Runs	Ave
	ARBUCK	20	17	5	86*	269	22.42
	IDERWOOD	20	20	0	65	357	18.85
P NO		17	17	2	39	264	17.60
J DIS		11	11	2	51	144	16.00
R R A	ARMSTRONG	21	19	1	77	252	14.00
W BA	AXTER	10	10	0	35	129	12.90
A FO	WNES	15	14	1	45*	166	12.77
W BI	LOORE	20	19	0	53	236	12.42
J REI	D	11	11	1	38*	111	11.10
B JOI	HNSON	17	14	0	31	152	10.86
J REI		24	20	4	25	139	8.69
	NGWORTH	9	8	0	26	69	8.63
	ATSON	17	16	0	42	109	6.81
	HENSON	20	10	3	20	68	6.18
Also batted	ILINGOIN	20	17	5	20	00	0.10
	AGRAVE	1	1	0	21	21	21.00
	IODGETT	13	9	0 5	21 28*	52	
							13.00
L WF		1	1	0	13	13	13.00
	NGFORD	3	1	0	9	9	9.00
G GR		6	6	0	19	34	5.67
A WO		2	2	0	9	11	5.50
	IFFITHS	3	3	1	8	8	4.00
T RE		3	3	1	8	8	4.00
	CHMOND	1	1	0	4	4	4.00
D KE	RSHAW	3	3	2	3	3	3.00
A BE	NNETT	2	1	0	2	2	2.00
R RE	ID	1	1	0	2	2	2.00
M ST	UBBS	1	1	0	1	1	1.00
J OLI	DHAM	1	1	0	0	0	0.00
D ST	UBBS	1	1	0	0	0	0.00
J STU		2	2	1	0*	0	0.00
R GR		1	1	1	0*	0	
	BSTER	1	1	1	102*	102	
Best off the Bat.			1	1	102	102	
Runs	 Player		Opposition			Venue	Date
102*	J WEBSTER	V	HUCKNAL	т		A	23.08.59
86*	G STARBUCK	v	RAYLEIGH		ΊC	A	01.08.59
77	R R ARMSTRON	-				H	13.06.59
74*		V DV	HUCKNALL COLLIERY EASTWOOD ST MARYS			Н	
	G STARBUCK C UNDERWOOI						20.06.59
65			RAYLEIGH		IC	A	01.08.59
54	C UNDERWOOI		WOOLSTH		DI	A	02.08.59
53	W BLOORE	V	HUCKNAL			Α	15.08.59
51	J DISNEY	V	CLIFTON N	MINERS V	VELFARE	Н	29.08.59
	ters of the season						
	ARBUCK	10					
	ARMSTRONG	1					
J REI		1					
	ATSON	1					
J WE	BSTER	1					

#### Best Batting Partnerships of the Season

Wkt	Runs	Partners	Opposition	Date
$1^{st}$	68	C UNDERWOOD & J WEBSTER	HÜCKNALL	23.08.59
	54	C UNDERWOOD & P NORTH	RALEIGH ATHLETIC	30.05.59
$2^{nd}$	41	P NORTH & B JOHNSON	KIMBERLEY INSTITUTE	09.05.59
$3^{rd}$	30	W BLOORE & J DISNEY	KIMBERLEY INSTITUTE	11.07.59
$4^{\text{th}}$	84	W BLOORE & P NORTH	HUCKNALL COLLIERY	15.08.59
$5^{\text{th}}$	87	R R ARMSTRONG & J REID	HUCKNALL COLLIERY	13.06.59
$7^{\text{th}}$	124	C UNDERWOOD & G STARBUCK	RALEIGH ATHLETIC	01.08.59
	83	E WATSON & G GREEN	EASTWOOD ST MARYS	22.08.59
	78	W BAXTER & G STARBUCK	EASTWOOD ST MARYS	20.06.59
	51	J DISNEY & E WATSON	CLIFTON MINERS WELFARE	29.08.59
$8^{\text{th}}$	49	G STARBUCK & E WATSON	EASTWOOD ST MARYS	20.06.59
$10^{\text{th}}$	38	D GRIFFITHS & K J HODGETT	EASTWOOD ST MARYS	22.08.59
$10^{\text{th}}$	29	J REEVE & H R HENSON	SANDIACRE TOWN	06.06.59

## 1<sup>st</sup> XI BOWLING Averages...(qualification 10 wickets)

I AIDOWLING Averages(quain	ication to w	ickets)			
	Overs	Maidens	Runs	Wkts	Ave
G STARBUCK	315	59	529	52	10.18
R R ARMSTRONG	218	37	679	54	12.57
W BAXTER	45.2	6	168	13	12.92
K J HODGETT	113.4	16	404	29	13.93
H R HENSON	152.1	37	459	30	15.30
J REEVE	69.5	10	268	15	17.87
Also Bowled					
J WEBSTER	8	3	16	3	5.33
L WHITE	3	0	9	1	9.00
J STUBBS	21.2	2	62	6	10.33
G GREEN	13	1	49	3	16.33
R LANGFORD	5	0	27	1	27.00
<b>N</b>					

#### Best with the Ball...

n the Dall					
Figures	Player		Opposition	Venue	Date
7-15	<b>R R ARMSTRONG</b>	V	EASTWOOD ST MARYS	Н	20.06.59
7-50	<b>R R ARMSTRONG</b>	V	HUCKNALL COLLIERY	А	15.08.59
6-13	<b>R R ARMSTRONG</b>	V	EASTWOOD ST MARYS	Н	22.08.59
6-18	G STARBUCK	V	RAYLEIGH ATHLETIC	Η	30.05.59
5-14	G STARBUCK	V	LOUGHBOROUGH CARILLON	Η	25.07.59
5-17	G STARBUCK	V	ASPLEY OLD BOYS	А	12.07.59
5-25	G STARBUCK	V	LOUGHBOROUGH CARILLON	А	23.05.59
5-27	<b>R R ARMSTRONG</b>	V	BALDERTON	А	19.07.59
5-27	K J HODGETT	V	LOUGHBOROUGH CARILLON	Н	25.07.59
5-40	G STARBUCK	V	WOOLSTHORPE	А	02.08.59
5-41	<b>R R ARMSTRONG</b>	V	GRESLEY MINERS WELFARE	А	28.06.59

#### 1<sup>st</sup> XI CATCHING & STUMPING

	Caught	Stumped		Caught	Stumped
R R ARMSTRONG	4		D GRIFFITHS	1	
P NORTH	4		K J HODGETT	1	
G STARBUCK	4		J REEVE	1	
J STUBBS	2		J REID	1	
W BAXTER	1		C UNDERWOOD	1	
W BLOORE	1		E WATSON	1	

#### 2<sup>nd</sup> XI FRIENDLY MATCH RESULTS...

09.05.59	BINGHAM	Η	Lost by 1 run
16.05.59	WILLOUGHBY ON THE WOLDS	Α	Lost by 1 wkt
23.05.59	WORTHINGTON SIMPSON	Η	Lost by 5 wkts
30.05.59	FISKERTON	Α	Lost by 1 wkt
06.06.59	NOTTS HARRINGTON	Η	Lost by 57 runs
13.06.59	CARLTON II	А	Lost by 54 runs
27.06.59	WORTHINGTON SIMPSON	Η	Won by 6 runs
04.07.59	HUCKNALL BOURNE METHODISTS	А	Won by 67 runs
11 07.59	FORMANS ATHLETIC	А	Lost by 3 wkts
18.07.59	WYMESWOLD	Η	Won by 7 wkts
25.07.59	NOTTS HARRINGTON	Α	Won by 6 wkts
26.07.59	CLIFTON MINERS WELFARE II	А	Draw
01.08.59	CARLTON II	Η	Won by 5 wkts
15.08.59	RUDDINGTON II	Η	Lost by 34 runs
22.08.59	BINGHAM	Α	Won by 6 wkts
29.08.59	FORMANS ATHLETIC	А	?
05.09.59	WILLOUGHBY ON THE WOLDS	А	Won by 9 wkts
			-

## HIGHEST SCORE: 177-8 KEYWORTH v CLIFTON MINERS WELFARE II (26.07.59)

## LOWEST SCORE: 21 KEYWORTH v BINGHAM (09.05.59)

## 2<sup>nd</sup> XI BATTING Averages...(qualification 6 completed innings)

2 11 0111	into Averages(qua	Matches	Inns	Not Out	HS	Total Runs	Ave
Ν	A STUBBS	12	11	2	43	113	12.56
	WOOD	17	13	2	32	151	13.73
	WATSON	8	8	0	49	94	11.75
	REID	7	7	Ő	24	85	12.14
J	BAKER	6	6	0	27	63	10.50
J	STUBBS	8	6	0	39	62	10.33
G	G GREEN	15	12	3	23*	92	10.22
D	O STUBBS	11	10	3	32*	63	9.00
L	, DAFT	9	7	0	22	51	7.29
L	, WHITE	13	13	0	20	91	7.00
D	) KERSHAW	13	11	2	10	42	4.67
R	R BROWN	9	6	0	6	18	3.00
Also batted.	••						
K	<b>CREFFIN</b>	2	2	1	36*	41	41.00
K	L J HODGETT	4	4	1	66*	76	25.30
V	V BAXTER	5	5	1	49*	94	23.50
K	<b>K</b> RICHMOND	5	3	1	32*	38	19.00
C	CHANLON	1	1	0	18	18	18.00
J	DISNEY	3	3	0	40	43	14.33
A	FORMAN	8	6	1	32	65	13.00
R	WOODFORD	5	5	0	16	34	6.80
R	GREEN	6	2	1	4	6	6.00
	) SHARPE	12	6	2	6	13	3.25
	O GRIFFITHS	1	1	0	0	0	0.00
	LANGFORD	1	1	0	0	0	0.00
J	OLDHAM	2	1	1	6*	6	

Best off th	ne Bat									
	Runs P	layer	Op	oposit	tion			Venue	Da	ate
		JHODGETT			NE METHO	ODISTS		А	04.0	7.59
	49* V	V BAXTER			5 HARRIN			Н	06.0	6.59
	49 E	WATSON				RS WELFAF	RE II	А	26.0	
Best Batti	ng Partne	erships of the Seaso								
Wkt	Runs	Partners			Oppositio	n			Da	ate
1 <sup>st</sup>	42	L WHITE & W BA	XTER		WILLOU	GHBY on t	he Wolds		16.0	5.59
3 <sup>rd</sup>	92	E WATSON & M S	STUBB	S	CLIFTON	MINERS	WELFAR	E II	26.0	7.59
$5^{th}$	28	A WOOD & D KE	RSHAV	V	WILLOU	GHBY on t	he Wolds		16.0	5.59
$8^{th}$	85	K J HODGETT &	G GREE	EN	BOURNE	E METHOD	ISTS		04.0	7.59
2 <sup>nd</sup> XI BO	WLING A	Averages(qualific	ation 6	wick	kets)					
			Overs	5	Maidens	Runs	Wkts	Ave		
	K RICH	MOND	20		7	39	10	3.90		
	W BAX	ΓER	37.5		8	92	15	6.13		
	A FORM	IAN	50		8	169	21	8.05		
	G GREE	N	149.1		43	389	47	8.28		
	L WHIT	E	44.2		16	86	10	8.60		
	J STUBI	BS	61.2		14	146	12	12.17		
	D SHAR	PE	44.3		1	158	10	15.80		
Also bowl	ed									
	K J HOI	DGETT	24		0	84	5	16.80		
	M STUE	BBS	13		0	61	3	20.33		
	E WATS	SON	10		0	41	2	20.50		
Best with										
	Figures				Oppositio			V	enue	Date
	6-20	K RICHMOND		V	BINGHA				А	22.08.59
	6-32	G GREEN		V		E METHOD	ISTS		А	04.07.59
	6-35	G GREEN		V	RUDDINGTON II				Н	15.08.59
	5-7 *	J STUBBS		V	BINGHAM				Н	09.05.59
	5-11	W BAXTER		V	WILLOUGHBY on the Wolds				Н	16.05.59
	5-14	W BAXTER		V	FISKERT				А	30.05.59
	5-21	A FORMAN		V		GHBY on t	he Wolds		А	05.09.59
	5-23	A FORMAN		V	CARLTO				Н	01.08.59
	5-28	G GREEN		V	NOTTS H	IARRINGT	ON		А	25.07.59
Note: * ind	cludes a H	at-Trick.								

## 2<sup>nd</sup> XI CATCHING & STUMPING

Caught Stumped

	Cuug
K RICHMOND	4
A FORMAN	2
G GREEN	2
E WATSON	2
A WOOD	2
J BAKER	1
C HANLON	1
D SHARPE	1
D STUBBS	1
M STUBBS	1